The Beatles - All you need is love

Fill the gaps with the correct form of the passive of the verb in brackets.

Notice that the passive phrases are in relative clauses so follow the example:
this is something that you can’t understand
---> this is something that can’t be understood

Then listen to the song to check your answers

Love, love, love...

There’s nothing you can do that * (you can’t do)
Nothing you can sing that 2 (you can’t sing)
Nothing you can say but you can learn how to play the game

It’s easy

Nothing you can make that 3 (you can’t make)
No one you can save that 4 (you can’t save)
Nothing you can do but you can learn how to be you in time

It’s easy

All you need is love
All you need is love
All you need is love, love
Love is all you need

Nothing you can know that > (you don’t know)
Nothing you can see that © (they don’t show)
Nowhere you can be that isn’t where you’re meant to be

It’s easy

All you need is love
All you need is love
All you need is love, love
Love is all you need

All you need is love (All together, now!)
All you need is love (Everybody!)

All you need is love, love

Love is all you need...
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